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Fill in the blank with the correct option :

Ram as well as his brothers
coming today.

(A) are

(B) were

©) is

(D) have been

In the question below, a part of the
sentence is underlined. Choose the correct

‘ alternative which may improve the

sentence :

In spite of age he is my senior.

(A) He is my senior in regard.

(B) In spite of his age, he is my senior.
(C) He is my senior, in keeping his age.

(D) He is my senior, because of age.

Choose the correct option for the
underlined part of the sentence :

We have had his speech yesterday.
(A) were having

(B) had

(C) had have

(D) will have had

Fill in the blank with the correct English

“and Hindi version of the technical term :

The officer failed to provide an
certificate in time.

i ¥ 1T :
T 9RO

(A) abetment — R

(B) abnormal demand - STgfaa Hi
(C) abolishment - S

(D) abatement S A |

HOGS TR

YOUR SUCCESS PARTHNER
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Fill in the b wxvt‘ilu{h;: correct English
and Hindi version of the technical term

from given options :

The chairman was forced to his
post.

sTee @l fqagr Siwt ot g

st 1

(A) abduct - OTEl wE

(B) abide - 38§

(C) abetment
(D) abdicate

ORI

(2N

Fill in the blank with the correct English

and Hindi version of the technical term

from given options :

The manufacturer has asked for an
for its new product.

ﬁmﬁmwm%%ﬁ
A ¥ |

(A) Abnormal profit - STEHFT W
(B) Abnormal increase - HEWFA ghy
(C) Abnormal price - SN &
‘(D) Abnormal demand - SR WY

Choose the correct Hindi translation of
the following word from the options
given below :

Notification

(A) srftrgaT (B) WIEgN

(C). wrdfaty (D) gaT

Choose the appropriate synonym of the
given word :

Boost

(A) Increase (B) Blow

(C) Setback (D) Shone

indiresult.in whatsapp - 9352018749
Choose the appropriate synonym of the °

given word :
Adage :

(A) Proverb
(C) Supplement

(B) Youth
(D) Hardness
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Fill in the blank with the correct
determiner :

‘boy and girl should go to

college.

(A) All (B) Enough

(C) Every (D) Several

Fill in the blank with the correct
preposition :

She sat here 8 O'clock.

(A) in (B) beside

(C) till (D) besides

Fill in - the blank with the correct

preposition :

She was blamed the failure.
(A) of (B) on

©) up (D) for

Choose the correct preposition :
He lost control of the car and crashed
a wall.

(A) in
(C) into

(B) at
(D) on

Choose the suitable preposition for the
blank given :
The children ran
(A) into

(C) besides

the room.

(B) onto
(D) at

Mark the correct English translation from

the choices given below, of the sentence

in Hindi :

e F g8l T R W OW A |

(A) When I went there, she kept on
sleeping.

(B) She slept while I went to her.

(C) When I went there, she. was sleeping.

(D) She slept all the while, when I went
there

16

17

18

19
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Select. the most apt translation of this -
sentence :

THH qE HET B ARG T T |
(A) He should not say this. |

(B) He has no right to say this.

(C) He did not have any right to say this.
(D) He had no right to say this.

Choose the correct Hindi translation of
the following sentence from the given
options :

She saw me in the library.
(A) T8 93 ey ¥ R |
B) ¥ 3 gmmwg § R |

'(C)w%gagamuﬁ%@rmx

(D) N H TEHEET ¥ TG @ |

Choose the most appropriate translation
of the given sentence into English :

srftreafert o T ST @ SRR ¢ |
(A) Freedom of speech is our original
right.

(B) Independence of expression is our
fundamental right.

(C) Freedom of expression is our
fundamental right.

- (D) Our fundamental right is freedom of

speech.

indiresult.in whatsapp - 9352018749
Choose the correct option and fill in
blank :

John as well as Tom waiting for

you.
(A) is (B) were
(C) have been (D) are

[P.TO.
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Choose the correct tense of the verb from
the given options :

Sita told them that they ‘ wrong.
(A) are B) will be
(C) were (D) can

Choose the correct tense of the verb from

the given options :
This journal twice a month.
(A) is appearing (B) appeared

(C) had appeared (D) appears

Fill in the blank with the correct form of
verb :

Raman saw that the clock
(A) stop

(B) will stop

(C) have been stopped
(D) had stopped

Choose the correct tense form of the verb
given in bracket from the options given
below to fill in the blank :

(stop) playing.
(B) have stopped

It is time you
(A) stops

(©) stopping (D) stopped

Identify the correct form of sentence in
the Active Voice :

(A) I forgave him his fault.

(B) The king has punishing the thief.

(C) I kept your‘book lest you may not
lose it. v

(D) It can be seen that the sun rose in
, the east.

25

26/4 b

27

28
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Choose the correct form of Passive

Transformation of the sentence given :

Who gave you the permission to write ?

(A) By whom were you given the -
permiission to write ?

(B) By‘whom given you the permission
to -write ?

(C) By-whom you were been given the
pesinission ?

(D) By whom was you given permission

. to w;ite ?

‘Which “Sentence given below correctly

changesthe active voice into the passive ?
Some ome has cut the telephone wires.
(A) The telephone wires were cut.

B) Tliieﬂielephone wires has been cut.
© The telephone wires have been cut.

») The telephone wires were found cut.

Chooséthe correct Active voice of the

following-sentence from the options given

below .- |

Can a cat be driven by her ?

(A) A ‘car can be driven by her.

(Bj A *€ar could be driven by her.

(C) Can’ she drive a car ?

(D) Could she drive a car ?
indiresult.in whatsapp - 9352018749

Choose-the correct indirect speech of the
followingsentence ffem the given options :

He said, !'They are in the class."

(A) He:said that they were in the class.
(B) He:says that they are in the class.
(C) He: said that they had been in class.
(D) He says that they are in the class.

[PTO.
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If you take away the prefix and the suffix,
what word is left of. the word
'unemployed' ? s

(B) e@loyed
(D) will not change

(A) unemploy
(C) employ

-~ ‘_}

What prefix would you add to the root
word 'view' to indicate -that you see
something before other peopIe do ?

(A) re (B) pre
(C) un (D) dis”
Use the correct word in the following :

Before the bell rang, the clas§ was
to go home. —

(A) ready (B) all"ready
(C) was already (D) wé“i‘e all ready

Use the correct word in the' following :
Not everybody shares my
(A) principals B) pi“%zﬁ“cipalities

(D) petsonalities

ik

(C) principles

Fill in the blank with an appropriate word
from the options given béfow :

They are in thé hall for the
class. L

(A) altogether (B) at together
(C) all together

(D) all-to gather

o it

Fill in the blank with an appropriate word
from the options given below :

I don't like his poﬁ“‘cy of pleasing
people.
(A) dual (B) duel
© dwell (D) doll
ULTE
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Read the following passc@gmd answer the 6
questions that follow it. Each question has 4
options. Choose the correct option / answer for

each question : (Q. 35 to 40)

I worked for a brief while in a college
in Delhi, and among my more uncomfortable
memories is a language exercise, I gave a group -
of eight undergraduates : I asked them to
imagine that they had already graduated and
wanted them to write an application for a
suitable job. Seven of the eight students wrote
applications for the jobs of clerks. Even in one
of the good universities, and in a college that
had a reputation for its academic standards, the
system has snuffed out all youthful ambition.

35 How long did the author work in a Delhi
College ?

" (A) for one year
(B) for a Iong time
(C) for a short time
(D) for eight years .

indiresult.in whatsapp - 9352018749
36  Choose the correct option from the given

passage :

What exercise did the author give the
~ students ?

He gave them

(A) a language exercise-to write an :
application for a suitable job.

(B) an exercise for testing skills in
English.

(C) an exercise to test clerical aptitude.

. (D) an exercise for the imagination.

RTNER
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37

38

39

40
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Choose the correct option from the given
passage :

The author wanted the students to imagine
that they were already -

(A) bureaucrats
(B) graduates
(9} undergraduates

(D) clerks

Choose the correct option :

The number of Students who wrote
applications for the jobs of clerks was -

(A) one (B) eight

(©) five (D) seven

Choose the correct option from the given

passage :

According to the author, the system had - |

(A) killed the students' ambitions.
(B) motivated the students' ambitions.
(C) taught them to write applications.

{)))] inspifed them to become scholars
and scientists and statesmen.

Choose the correct option :

"Snuffed out" in the passage means -
(A) encouraged

(B) killed

(C) incited

D) persiladed

41

42

43

44

45
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format is followed in writing
business letters.

(A) Semi block
(B) Modified

(C) Semi modified
(D) Block

In a formal letter what is the name given
to the address and date at the top ?

(A) Starting
(B) Closing
(C) Body

(D) Heading

Choose the correct bption :

In an official letter, you address the
person you are writing to -

.(A) as Sir / Madam

(B) by his / her first name
(C) as "Sir and Madam"
(D) informally

The main point is written in which part
of an official or formal letter ?
(A) Post - script
(B) Opening
(C) Body
(D) Closing

indiresult.in whatsapp - 9352018749
Choose the correct option changing the‘
following sentence into assertive :
How childish your talks are !
(A) Your talks are childish.
(B) Your talks should be childish.
(C) Your talks are not childish.
(D) Your talks are very childish.

[P.TO.

LDC_Exam_2018 (2nd Paper




46

47

48

49

761 @INDIRESULTE

. (B) How will man die better than facing
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Choose the correct transformation from
assertive to interrogative :

We should not waste time in this fruitless
occupation.

(A) What should we do of this fruitless
occupation ?7 4

(B) Why will we waste time in this
fruitless occupation ?

(C) Why should we waste time in this
fruitless occupation ?

(D) Why would we waste time in this
fruitless occupation ?

Choose the correct transformation from
assertive to interrogative :

Man cannot die better than facing fearful
odds.

(A) How can man die better than facing
fearful odds ?

fearful odds ?
(C) Should man die than facing odds ?
(D) Will man die better than facing odds ?

Choose the correct option changing the
following sentence into assertive :
What a delicious food !

(A) It was a very delicious food.
(B) It was delicious food. '
(C) Was it a very delicious food ?

(D) It was not a very delicious food.

Choose the correct exclamatory form of
the following sentence from the given
options :

He is a great doctor.

(A) What a great doctor is he !

(B) A great doctor is he !

(C) What a great doctor he is !

(D) Isn't he a great doctor !

50
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Choose the correct transformation from
exclamatory to assertive :
What a wonderful creature an elephant
is! :
(A) Elephant is the creature of wonder.
(B) Ofall creatures elephant is wonderful.
(C) The elephant is wonderful.

(D) An elephant is a very wonderful
creature.

Choose the correct option from Assertive
to Exclamatory transformation for the
sentence given :

I wish I had wings of a dove.

(A) O that I had wings of a dove !

B) I am desirous of having wings of a
dove ! :

(C) What if I had wings of a dove !

(D) How can one have wings of a dove !

Choose the appropriate article given in
the options :

Copper is useful metal.

(A) an (B) a

(C) the (D) zero article

We could barely get any information at
the airport. people seemed to -
have idea about the flights.

(A) Many / any

(B) a lot of / any
(C) Only a few / some
(D) Any / no

indiresult.in whatsapp - 9352018749
teachers prefer a class that is

fairly consistent in having pupils of the
same level.
(A) Most

(C) Whole

(B) Neither
(D) Every

[PTO.
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56
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Shallew
(A) deep (B) long
(C). short (D) brief
61 Whiéh one of the following is the correct
meaning of -
That which cannot be heard.
(A) Indelible (B) Invincible
(C) Inaccessible (D) Inaudible
] ( %) INDIRESULTE

Which of the following is the synonym
of HASTE ?

(A) Lethargic
© ;S;.low

(B) Brisk
(D) Delay

Which of the following is the synonym
of Indict ?
(A) Acquit
(C) : Speculate

(B) Accuse
(D) Frustrate

thch of the following is the antonym
of Relinquish ?

(A) Abdicate
(C)- Possess

(B) Renounce
(D) Deny

Choose the correct antonym of the
following word from the options given
below :

Calm'
(A)“*exmte (B) pacify
(C) please (D) pleasant

Choose the correct antonym of the
followmg word from the options given
below :

Exodus

(A) Outflow
(C)- Return back

(B) Home - coming
(D) Restoration

Choose the correct antonym of the
following word from the options given
below :

62

63

64

65

66

(C) self-killer
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Which one of the followmg is the correct
meaning of -

Killing of self -
(A) murder (B) killer

(D) suicide

Which one of the following is the correct
meaning of -

The study of human behaviour and
societies :

(A) archaeology

(B) anthropology

(C) history

(D) public administration

Replace the underlined part of the sentence
with one word from the options given
below :

John is a person who collects stamps.
(A) Numismat (B) Philatelist
(C) Bibliophile (D) Archaeologist

Choose the correct option of prefix to
make new word -

Continued
(A) mis (B) dis
(C) un (D) in

indiresult.in whatsapp - 9352018749

Choose the correct form of Indirect
Narration for the given sentence :

The lady said to the man, "Please lend

me your pen". ‘

(A) The lady said that please lend me
your pen.

(B) The lady told the man to lend her
his pen.

(C) The lady requested the man to lend
her his pen.

(D) The lady asked the man politely if
he could lend her his pen.

[PT.O.
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Choose the correct indirect speech of the
following sentence from the options ngen
below :
Hari said, "The doctor is coming."
(A) Hari said that the doctor was coming.
(B) Hari said that the doctor is coming.
(C) Hari said that the doctor has been
coming. £
(D) Hari says that the doctor was commg

Choose the correct indirect speech of the

following sentence :
He said, "When did she arrive ?"

(A) He asked when she had arrived.
(B) He asked when had she arrived."
(C) He asks when she had arrived. -~
(D) He asked when she had arrived ?

Choose the correct sentence from .the
following options :

(A) He said that the fires were to be Lit.
(B) Shyam told me that I am ready. .

(C) He told me, "The gardener had not

watering the plants."

(D) Sunil asked me if [ am appearmg for
this exam.

Choose the correct negative form of the
following sentence from the given options :
He loves apples. £
(A) Neither he loves apples.

(B) He doesn't love apples.

(C) He may not love apples.

(D) He not loves apples.

Change from assertive to negative :
Everyone makes mistakes. 2
(A) Anyone can make mistakes.

(B) There is none who is mistake free.
(C) No one is with mistakes. o

(D) There is no one who does not make
mlstakes
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Choose the correct assemve form of the
following sentence from the given options :

Books are not available.

(A) Books are available.

(B) Books are always available.
(C) Books were available.

(D) Books must be available.

Change from assertive to negative :
The two brothers are like each other.

(A) The two brothers are not very unlike
each other.

(B) The two brothers resemble each other.

(C) The two brothers do not look like
each other.

(D) The two brothers are not unlikely
like each other.

Choose the correct interrogative of the
following sentence from the given options :

He is angry with her.

(A) Is he angry with her ?

(B) Isn't he angry with her ?
(C) Wasn't he angry with her ?
(D) Who isn't angry with her ?

indiresult.in whatsapp - 9352018749
Choose the correct conversion from

_ interrogative to assertive :

Was he not a hero to do such a deed ?
(A) He was not a hero to do such a deed.
®B) He was such a hero to do a deed.
(C) Only a hero could do such a deed.

(D) He was an absolute hero to do such
a deed.

[P.TO.
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(B) gfeR ofX STET

(C) T sifmITER
(D) T ST sifert

ke o N HEar dfy ¥ 7
(Aa) o (B) ghs
(C) T (D) sy

gqriier o= H HEG Wy ¥ ?
(A) =sm g@fr (B) faal wfy
(€) & wfy (D) o1 wfYy
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(A) TE @ <o

®) T % fag afon
- (C) & & RO Ihgom

(D) T6 & pw ¥ fow afom

oW g TEETEd 8 U -1 g
BT 7

(A) g7 (B) wgafe
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frg sg ¥ 5 Suwt A ¥ ?

(A) T (B) FaH
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ey ¥ omEr soat ¥ 7
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84 ‘T 9% ¥ Ty ¥ -

85 ‘OIEe’ Woug ¥ wier 9sg e s ¥ ?

(A) T (B) e
(C) aae (D) ez

86 T ¥ ‘Ug’ &I WAl 9 e ¥ -
(A) ar| (B) st
- © == (D) ¥

87 Rl T wEigaE ¥ -
A) T (B) Hh
(©) drelr D) g

88 ‘avE o= @ Rem ¥ -
(A) afiE (B) qreE
) % (D) sgHIT

89 dmfas @ ﬁvﬁw I T -
(A) Tifcaes (B) et
(C) wfkE (D) sifare

90 wrar o aref B ghe A @ q ek
T E?
(A) T (B) wsht
(C) ot (D) A&
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91 ‘®W, YW, YO oFGHNH S& F s
e & Bifew |
(A) ¥ g &7, W@, €9
B) g=x, faga, &0
(C) =/, fptur, gE@fa
(D) ST, wel, e
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92 ‘WaE - YA % g @ W o1 g
v .
(A) T, e
(B) #rr, @
(C) @&, Hm
(D) qER, =

frrefaie & @ s o=f & fiffa R
fafea Bk —
(A) He®
(C) @™

93

(B) Fan
(D) st
04 frw s § ot o= gm ¥ 7
(A) gHtenm, g

(B) g, Rigz
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(A) He is poor but he is honest.

(B) He was poor but he was honest.
(C) He was a poor man but he is honest.

(D) He is honest but he is poor.

He is writing a letter to his mother.
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